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1. WEEE
b K 11,589,724 8,116,070 3,473,654
HE 20,000 20,000 0
REHEEL 20,000 20,000 0
@A 11,569,724 8,096,070 3,473,654
TR TN A ST R AT 11,569,724 8,096,070 3,473,654
TRENEPE Gt 11,589,724 8,116,070 3,473,654
2. BEEHEE
(1) FAR
P fRE 2% 300,000,000 300,000,000 0
2550 HA B MOE R IR - RN 100,000,000 100,000,000 0
5152001 L A7 T i1 200,000,000 200,000,000 0
B G 300,000,000 300,000,000 0
(2) FrEdE
PR SR P TS 3,200,000 2,800,000 400,000
TS TN A T R AT 3,200,000 2,800,000 400,000
e EGR 3,200,000 2,800,000 400,000
(3) DA E
Z D EEE AT 0 0 0
[ A 303,200,000 302,800,000 400,000
BHFECR 314,789,724 310,916,070 3,873,654
I A0
1. WEEUS
Kb 8,609,457 4,497,273 4,112,184
L& 867,635 750,661 116,974
Hii52 48 191,000 15,000 176,000
mEAE AR 9,668,092 5,262,934 4,405,158
2. HEEAM
[ B ARt 0 0 0
afaqE 9,668,092 5,262,934 4,405,158
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1. $EE K P
R 300,000,000 300,000,000 0
RIE EWRIM P AR 300,000,000 300,000,000 0
(5 BIEA FEANDFELHD) 300,000,000 300,000,000 0
(5 BRFEEFENDFE YD) 0 0 0
2. —fRAERKIAE 5,121,632 5,653,136 /531,504
(5 BEAR EANDFELE) 0 0 0
(5 BRFEEFENDFELHD) 3,200,000 2,800,000 400,000
(ERRR AR 305,121,632 305,653,136 /\531,504
EE R ORI ARt 314,789,724 310,916,070 3,873,654




